
All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Replaces Toro Greensmaster 3250-D
Parts
Traction Unit - Model 04383 & 04384
Neutral System



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Order
Quantity

10 R99-4251 99-4251 Hose-Dampener 1

11 R100-9846 100-9846 Support - Cable 1

Tech Note: Fits Model 04383:

12 R400258

01-150-0800,
01-178-0600,
01-178-0606,
20-45-AD,
31-0200,
31-9910,
3224-1,
323-4

Bolt - Hex HD 3/8-16 x 3/4 2

Tech Note: Fits Model 04383:

13 R33024-00 33024-00 Locknut - 8mm x 1.25 2

Tech Note: Fits Model 04383:

14 R99-4254 99-4254 Spring-Extension 1

15 R57-6380
33114-025,
48-9460,
60-4540

Bolt - Hex HD M8-1.25 x 25 1

Tech Note: Fits Model 04383:

15 R400260

01-178-0605,
18-4100,
19-8270,
323-3,
323-33,
323-34,
323-5

Bolt - Hex HD 3/8-16 x 7/8 1

16 R251-259 251-259,
251-307 Bearing - Ball 1

17 R75-5470 75-5470 Spacer - Bearing 1

Replaces Toro Greensmaster 3250-D
Parts
Traction Unit - Model 04383 & 04384
Neutral System



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Order
Quantity

18 R3296-29

1-804256,
3290-357,
3296-29,
915662P

Locknut - 5/16-18 ESNA 1

Tech Note: Fits Model 04383:

18 R104-8300
104-8300,
104-8300 ,
119-4041

Locknut - 5/16-18 Flanged Y/Zinc 1

Tech Note: Fits Model 04384:

19 R93-2111 93-2111 Stud-Traction 1

20 R3-6498
3--6498,
3-6498,
47-8270

Washer - Thrust 1

21 R94-9609
93-2103,
93-2115,
94-9609

Bushing-Straight 1

22 R94-4527 94-4527 Arm - Neutral 1

23 R93-9051 93-9051 Decal 1

Tech Note: Fits Model 04383:

24 R3210-6 3210-6 Bolt - Hex HD 1

25 R88-7200 88-7200 Washer - Flat 1

26 R33115-035 33115-035 Bolt - Hx HD 3

Tech Note: Fits Model 04383:

Replaces Toro Greensmaster 3250-D
Parts
Traction Unit - Model 04383 & 04384
Neutral System



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Order
Quantity

26 R400264

01-150-0180,
01-178-0610,
20-48-AD,
20-48-AGD,
32-9160,
3224-3,
323-29,
323-7,
400264,
908035P

Bolt - Hex HD 3/8-16 x 1-1/4 2

Tech Note: Fits Model 04384:

27 R94-3488-03 94-3488,
94-3488-03 Lever - Pump 1

28 R2844 2844 Washer 3

Tech Note: Fits Model 04383:

29 R94-3486 94-3486 Plate 1

Tech Note: Fits Model 04383:

30 R33025-00 32025-00,
33025-00 Locknut - 10mm x 1.5 Jam 3

Tech Note: Fits Model 04383:

31 R33114-030
33114-030,
42-9520,
48-7730

Bolt - Hex HD M8-1.25 x 30 1

Tech Note: Fits Model 04383:

32 R94-8196 94-8196 Washer-Nylon 2

Tech Note: Fits Model 04383:

33 R94-8197 94-8197 Tube-Pivot 1

Tech Note: Fits Model 04383:

34 R33113-035 33113-035 Bolt - Hx HD M6-1.0 x 35mm 1

Replaces Toro Greensmaster 3250-D
Parts
Traction Unit - Model 04383 & 04384
Neutral System



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Order
Quantity

35 R3256-22

24-9-BD,
3-1032,
3256-1,
3256-22,
93-0954,
93-0989

Washer - Flat 1/4 Yellow 2

36 R94-1312 94-1312 Spacer-Pivot 1

37 R76-8870 105-7280,
76-8870 Lever Damper Assy 1

38 R400112 321-8 Bolt - Hex HD 1/4-20 x 1-1/4 1

39 R24M7139

24M7139,
3256-16,
33093-00,
43-5930

Washer - Flat 6mm 2

40 R2411-41 2411-41 Rod End - Ball Joint 1

41 R33023-00
33023-00,
48-7900,
49-7810

Locknut - ESNA 6mm x 1.0 1

42 R301504

2296-42,
301504,
32127-24,
32128-33,
32146-17,
3296-16,
3296-42,
3296-42 ,
915661P

Locknut - ESNA 1/4-20 1

Tech Note: Fits Model 04383:

42 R104-7201 104-7201 Locknut - 1/4-20 ESNA Flanged 1

Tech Note: Fits Model 04384:

43 R63-9750 63-9750,
64-9750 Mount - Rubber 3

Replaces Toro Greensmaster 3250-D
Parts
Traction Unit - Model 04383 & 04384
Neutral System


